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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At thg start of the examination, before attempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

*  The serial numbers of test booklet and O.M.R. answer sheet

are same. )

= All pages of test booklet and O.M.R. answer sheet arc
properly printed. All questions from S. No. 1 to last S. No. 100
are printed and pages from S. No. 1 to last S. No. 16 are there
in the question booklet. '

In case of any discrepancy/defect the candidate should

immediately report the matter to the invigilator for replacement of

test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.

Candidate will be liable for it.

3. Answer all questions.

4.  All questions carry equal marks.

5. Only one answer is to be given for each question.

6. |f more than one answers are marked, it would be treated as

' wrong answer. :

7. Negative marking is applied, one third (1/3) of lhe marks
allotted to the guestion will be deducted for every wrong
answer. Wrong answer shall mean an incorrect answer or
multiple answers.. :

8. Each question has four alternative responses marked serially
as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9: Use of Mobile Phone/ Bluetooth Devices or any Iqlher
electronic gadget in the examination hall is strictly proh@nted.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per

rule. L
" 10. If there is any sort of ambiguity/mistake either of print‘rng or
factual naturg in Hindi and English version of the question,

the English version will be treated as standard.

Warning - If a candidate is found copying or if any unauthorized
material is found in histher possession, F.I.R. would be lodged
against him/her in the Police Station and he/she would be liable 10
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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The cost of a car is 400% greater than the cost
of a bike. If there is an increase in the cost of
the car by 15% and that of bike is 20%, then the
total increase in the cost of the 5 cars and 10
bikes is -
(A) 18.25%
(C) 17.5%

(B) 18.5%
(D) 1639%
7

If o, B are roots of x> —ax + b = 0 and

Vp = 0" + ", then v+ 1.ds equal to -
(A) avn + bV nl-l
(C) bvh—avn1
In the given figure, if L1| | Lz, then the values of
X, Y, z respectively are —

(B) bv, +avn1

(D) avy—bv a1

- L
46° . ® '
20°
y - '
z

(A) 36°, 36°, 98° (B) 98°, 36°, 98°
(C) 36°,98°,36° (D) 98°,98°, 36°
If we muitlply a fractmn by itself and dwlde the
product by the square of its reuprocal the

: : : . 13 o
fraction. so obtained is 3 The original

fraction is -

(A) % (B) 1€
3 9

(& (D) 8
3 9

A bag contains one-rupee, 50 paise and 25
paise coins and the ratio of “their value is
30 : 11 : 7, and the total number of coins are
480. The number of 25 paise coins are -

(A) 160 (B) 132

(€) 168 - (D) 212

The sum of three numbers is 98. If the ratio

between first and second be 2:3 and between
second and third be 5:8, then the second
number is - ‘

(A) 30 (B) 48

(©) 20 ' (D) 58

(C) 36°,98°, 36°

(A) 30

ug @R ] P U Al SREARE
aiftys @1 afa @R A @ 1 15% v g
a9 @i ¥ 20% 1 gy &R0 & A5 Wi e
10 qrepi @1 A i ael gl
(A) 18.25%

(C) 17.5%
Zﬁ%"x—-ax+b 07.7 :]-'T {I,B ?}‘H
+ ", AT Vne1 dR16% B —

(A) avp + bV n-1 (B) bva + av a1

(C) bva—aV (D) avn—bv %

frg g fore #, A Ll | L2 & arxy, % T
HI: B —

v = 0"

46° X Y
_ 20

z 62( )
(B).0g°, 36°, 98°
(D) 98°, 98°, 36°
Ife & el A @1 @d ¥ oM SR
UG B SEG Gopd @ g4 | 9 < @

W%Bwsﬁml?ﬁﬂaﬁ———r‘s‘e

g
(A) 2 (B) 16 EEE

(A) 36°, 36°, 98°

3 < 9
(€)1 (D) 8
4 9

W o1 ¥ v, so 49y e 25 B9 P
R1e% €, R =1 &1 argura 30:11:78

ma‘?'ﬂﬁwﬂ@ﬂaaoélzsﬁﬁmﬁw
D GET § —

(A) 160 (B) 132

(©) 168 ' (D) 212

M W@l a1 AT 982 | af weel oK T
# 4 1 g 23 9 e qwd o AR
@ 99 5.8 &, W @ wew & -

(B) 48
© 20 (D) 58

130-D € . Page 2 of 16

Scanned with CamScanner



If A takes 4/5 days as B takes and working 7. gfd A, B @ A W 4/ fast dar & sy v

together they require 20/3 days.to complete W T0TE] et St S R I o ;1-:"_ D

the whole work. What is the efficie ' ferg 20/3. IG=tl DI Smazarpe Bl ¥4 8 B
. ncy of B? cerd] I &7

A) 8% (B) 62y (A) gl (B) ¢ 25

(C) 5.55% (D) 16% (C) 5.55% (D) 16%

8. Abhinav leaves Mumbai at 6 am and reaches 8. aififa {ag 6 dol Has W Fwern @ 3R
Bangalore at 10 am. Praveen leaves Bangalore 10 99 TR UETR B WA [aE 8 aol
at 8 am and reaches Mumbai at 11:30 am. At FreR A Pl € 3R 11:30 491 Hag ygddr
what time do they cross each other? 2| I 59 TG Uh SR BI IR aRd 87

- (A 8:56am (B) 10am * (A) g 8:56 01 (B) e 10 awi
(C) 9:20 am (D) 8:32 am (C) gag9:20 a1 (D) gag 8:32

8. What annual payment will discharge a debt of 9. go iy q¢ ®r € 5 Ul H 580 TG G FUT
T 580 in 5 years, the rate being 8% p.a:? BT T‘I’ﬁ!‘rr%‘\’? qiftes AT A ERI?

(A) 120 - (B) 78 (A) 120 © (B) 78 :
(C) 80 (D) 100 (C) 80 (D) 100

10. The ratio of ages of Krishna and Balram is 3:4. 10. Hwr 3R, FeRM™ BT Y BT JFFUTT 3:4 €| AR
Four years earlier, the ratio was 5:7. Find the ATl Uge, Ig U 5:7 AT | FE SIMEENEE
present ages of Krishna and Balram. CIRCREIR 3Ty =01 PIT |
(A) 24 years, 32 years (B) 32 years; 24 years (A) 24 99, 32 94 (B) 3294, 24 94

. (C) 15 years, 20 years (D) 16 years, 20 years (C) 15 44, 20 99 (D) 16 94, 20 99

11. The diameters of two concentric circles are 8 . 2y Wofsd g @ ™ 8 HAl 3R 10 L
f:;;ni(: _10 cm. The area of the region between 3| 97 99 D o 7 & 3.

(A) 31 cm? (B) 1 cm? (A) 31 =1.70).2 (B) t=y2
(€) 9w cm? - (D) 6m cm? (C) 992 (D) 6x A2

12. |t x = 7 + 4+/3 and xy = 1, then the value of 12. e x=7+4V3 3R xy=1, @ (éJr%) o~
EE- LA AT 8 - ’

(A) g5/3 (B) 57 (A) 8543 (B) 57
(C) 194 (D) 7+4v3 (C) 194 (D) 7+4v3
" 7-4y3 7-4\/3
13. Which of the following is/are prime numbers? 13. fo=foiRaa # 9 19 amey A 8 /&7
(i) 241 ' (i) 241 ‘

(ii) 337 i (ii) 337

(iii) 391 3 (iii) 391

(iv) 571 (iv) 571

(A) (ii), (iii) and (iv)  (B) (i), (ii) and (iv) - (A) (i), (iii) T4 (iv) (B) (i), (i) T& (iv)
(C) Only (i) and (iii) (P (i), (ii), (iii) and (iv) (C) Baat (ii) Ta (iii) (P (i), (ii), (iii) G (iv)

14. Find the greatest number which on dividing 14. g 9o 91 G A BINTg T 152, 277
152, 277 and 427 leaves equal remainder. 3R 427 BT AT 39 R RER UG W 8 |
(A) 65 (B) 45 (A) 65 (B) 45 - '
(© 25 (D) 35 (C) 25 (D) 35
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15,

If one diagonal of arhombus is equaltoits side,
then the diagonals of the rhombus arc in the

. ratio -

16.

i7.

8.

18.

130-D €

.(c) Opal

(M) V3:1 (B) 3:1

(©) v2:1 (D) 2:1

Which of the following is not a chemical
change?

(A) Ripening of fruits  (B) Digestion of food
(C) Freezing of water (D) Curdling of milk
Which instrument is use_d to measure number
of revolutions per. minute of the aircraft
engine?

(A) telemeter (B) tachymeter

(C) tachometer (B) polarimeter

Match the foliowing columns —
Column-i Column-Ii
(a) Soapsuds - (i) Emulsion
(b) Silt in water (it) Foam
(iii) Sol
(d) Mayonnaise (iv) Gel
Code - .
(8) (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(B) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(©) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
(D) (a)-(ii), (b)-(ii), (c)-{iv), (d)-(i)
Match the following-columns -
Column-!

(a) John Dalton

(b) Antoine Lavoisier

(c) Richter

(d) Gay-Lussac

Column-—ii

(i) Law of Conservation of Mass
(ii) Law of Reciprocal Proportions
(iii) Law of Gaseous Volume

(iv) Law of Multiple Proportions
Code - :

(A) a-(iv), b-(i), c-(ii), d-(iii)

(B) a-(iii), b-(iv), c=(ii), d-(i)

() a-(ii), b-(iii), c-(iv), d-(i)

(D) a-(i), b-(ii), c-(iii), d-(iv)

1304097643

1304097643

1304097643 1304097643
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& aeae 8, At @ @i @ gy,
i‘)—'—ﬁ:l (B) 3:1

- (©) Vi1 (D) 2:1

i ﬁmfa@ﬁﬁﬂaa’ﬁww?lﬁiﬁqﬁmhqﬁ
87 \
(A) Weli @ Thl ‘(B) AT BT e
(C) ur=t @71 Sl (D) g1 BT WeT
g & gorT Bl gfer fase qﬁ‘?ﬁw * Yy
o @ forg Ry SU@RIT BT SUATT R Sy
87 : '
(A) eforlex (B) TP
(C) SHHIeR (D) drenfRHTex
Prer RRIT B gAfera BT —

- Sl

(a) ATg=T T B T ST ORISE
(b) Sief # M (i) B
CELCNCERIE (i) SiTeT
(d) AT (iv) Sier
Eﬁ'a‘ i

() (a)-{iv), (b)), ()-{ii), (d)-(i)

(B) (a)-{i), (b)-{ii), (c)-(ii), (d)-{iv)

(©) (a)-{ii), (b)-iv), (c)-{ii), (d)-{)

(D) (a)-(i), (b)-{ii), (c)-(iv), (d)-{i)

FreiferRaa FYemt o R R -
DletH—I

 (a) ST 1o

(b) TS SRR
(c) Raex
(d) V-

Carop: T
() e & <dveror @1 fogy
(i) IREIRS T[oif w7 frers
(iil) TR S 7 oy
(iv) 98 39T &7 forgs
az\—d —
(A) a-(iv), b-(i), c-(ii), d-(iii)
(B) a-(jii), b-(iv), c-(ii), d-(i)
(©) a-(ii), b-iii, c-(iv), d-(i)
(D) a-(j), b-(ii), c-(jii), d-(iv)
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20.

21.

22,

Which of the following statements is/are
correct regarding fats?

(I) Fats are needed for the formation of cell
membrane.

(1) Fats help the body to absorb calcuum fromeey
food.

(1) Fats are required to repair damaged
tissues.

(IV) Body cannot release energy in fats as
quickly as the energy in carbohydrates.-
Select the correct answer using the code

given -

(A) (1) 'and (IV) (B) () and (1v)

(C) (1n) and (1) (2) Only (1)
Dimensional formula of surface tension is -
(A) [MILITY) (B) [(MLiT2)

(C) [(MLoT7 (D) [mL219]

If the image is upright and diminished and itéry
remains upright when the mirror is moved<=
away from the face, then the mirroris a ..........

04097643

130409764

20. g1 @ i 0 ffated 0 9w o/
U Bl (/
() e foreen @ o & fsu aar o
angeEal gl 2 | |
(I Tar 913 5 S A dlemas @ i
GG R IR CTHR TR A

(1) eferoar Sami @ weea @ fg awr @
amagaeEal el © |
(V) ¥R @ ¥ Ser el A Fel g Bre
Fardl e & FrEEse 9 Sl |
fay 7T wme b1 FERT B AWE OOR YT —
(A) (1) == (1Iv) (B) (1) AR (IV)
(C) (1) R (IV) (D) &wage (1)
21. 'y AT B R W € -
(A) (MLITY (B) [MLIT?)
(C) [MILOT] (D) [ML2T9)
¥ X o OF W Tg R @ g, dr U

22.

" mirror. " .. ST E‘AW"T g _
(A) concave (B) convex % (A) argast (B) 95
(C) plane (D) Both convex andp (C) wHael (D) e[ Tga el
plane % _ quaS
23. Which one of the following statements is notg 23. fa=feilRae el § W Sl9—a1 9El Tl 27
correct? . I
(A) The number of neutrons in all atoms of an™ (A) fol o & o wAvRl d _ggEl @
element is always same. o AT Fag |/ B B
(B) The mass numbers of atoms of an elements@- (B) fovefl o= & W‘g&ﬁ @ T ?1'@'7‘1
may be different. g - 2 T 2 |
(C) The mass numbers of atoms of different(3} (©) faf= o=t @ ‘31"""1'T‘313ﬁ B T GG
elements may be same. g:; M B FHal & |
(D) The number of protons in all atoms of anC2 O) fbdf o & W wegRl ¥ weEl B
element is same. _ ﬁ [T A Bl B ,
24. \Which of the following is a heterogeneous 24. fpafeRaa & ¥ o ve fagaif faswr 87
mixture? :
(A) Solution @ (A feera=
(B) Suspension (B) foeia=
(C) Both solution and suspens:on (C) o= 3R forefas g
(D) Neither solution nor suspension (D) =1 41 faerg= 3R =11 & Fc=
25. Yeast is an important source of - 25. iR fareeT Tewaqel I 87
(A) Protein (B) vitamin B (A) W= (B) Rerfi= B
(C) Vitamin D (D) vitamin C (©) faer®™= b (D) ferfi= ¢
130-D © -
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26. The word ‘Vaccination’ has been derived from 26. W m @ Al 9w Y ["'“I_i T
a Latin word, which relates to - R Hae € — i
(A) dog ¢ (B) horse (A) Ep;_ﬁ i (1 ErS ¥
(C) cat (D) cow ‘ (C) Rl @ (D) 7T &
27. Which of the following is not a vector quantity? 27. fyeferRad # | B Th A AR T
(A) Resistance (B) Impulse (A) iR (B) afrerT
(0 Acceleration (D) Torque | () TRV (D) <
28. Which of the following is a good conductor of 28. fferad | R} B SO DI W A §
heat but a bad conductor of electricity? A ﬁgﬁ Cafe &7
(A) Mica (B) Ebonite (A) HATEHT (B) warrge
(C) Copper (D) Gold (C) PR _ (D) e
29. Flight of rockets and jet planes is practical 29. Jfepe 3R T 2 B S fhad ﬁ?@ﬁ”‘i
application of the principle of - '  EEING W &? |
(A) conservation of force (A) g T A& coap
(B) conservation of energy (B) Goff T HRET - &
(C) conservation of linear momentum (C) YRges Ty BT ARET
(D) conservation of mass (D) gudM BT TRETUT
30. To an observer on lunar surface, during day 30 9% ¥ag WX D qReTd B, foT @ 9T oM
time sky will appear to be - TR 9 —
(A) Blue (B) Orange (A) <reT (B) ==h
(C) Light yellow - (D) Black (C) BT el (D) T
31. How many properties have been issued 31. 3T 2022 9 RToReT § et fhal Fferi
heritage certificates in Rajasthan till April : ; : N
2022?g J - aﬁgﬁéﬂmﬁwﬁﬁw,ﬂ?’ &7
(A) 230 (B) 151 (A) 230 (B) 151
(C) 187 (D) 143 - (C) 187 (D) 143
32. Which policy was approved to develop 32. IR B fibeq SReJvE & w7 F ﬁﬂ?ﬁﬂ
Rajasthan as a film destination? T B v b Ry @Y ol & T
(A) Rajasthan Film Tourism Promotion Policy - (A) ISR ﬁb—@? o - Sy - 2022
2022 | : s
/(B) Rajasthan Film Exploration Promotion (B) TSR fore, 3907 Ue Sy — 2022
Policy — 2022 | © .
(C) Rajasthan Film Travel Promotion Palicy — W foes cdel AIATE Afer — 2022
2022 (D . o _
(D) Rajasthan Film Screening Promotion Policy ' 1R iR Wﬁ yreATE ;ﬂﬁ
-2022 2022
33. Who released the book 'Locust Control in 33,
Rajasthan'? m—)m feratzror gwEe W W
(A) Ashok Gehlot - (B) Lalchand Kataria (A) 3reies ey .
(C) Ramlal Jat (D) Murari Lal Meena (©) TSy e (B) iTerae Wﬁw
0D ¢ = FUGEEE B
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34.

35.

36.

37.

38.

39,

Indian women's cricket team captam M|tha|r

Raj announced her retirement from all forms of
international cricket in -

(A) April 2022
(C) July 2022

(B) June 2022
(D) August 2022
What is the rank of Rajasthan in the list

released by the Government of India on 'Utsav
Portal' in July 2022?

(A) Fifth (B) First
(C) Second (D) Third
‘Which institute organized the

'Charcoal
Painting Art Exhibition'? :

(A) Rajasthan Sahiiya Academy, Udaipur

(B) Rajasthan Lalit Kala Akademi, Jaipur

(C) Rajasthan School of Arts, Jaipur

(D) Western Region Cultural Centre, Udaipur

Rajasthan’s Chief Minister has approved the
proposal to give benefits of RIPS-2019 to Rural
Tourism Units. Full form of the RIPS Scheme
is - = ’

(A) Rajasthan Installment Providing Scheme
(B) Rajasthan Investment Promotion Scheme
(C) Rajasthan Insurance Prorotion Scheme
(D) Rajasthan Inspection Proposal Scheme

Rajasthan Government signed a Memorandum

of Understanding (MoU) with
................................. Government Stree Nidhi,

to set up the first all women-run cooperative
bank.

(A) Kerala

(C) Tamilnadu

Recently (May 2022) in which district the Chief

(B) Bangalore
(D) Telangana.

Minister has approved the proposal to open 3

new tehsils?
(A) Jodhpur
(C) Banswara

(B) Churu
(D) Jaisalmer

40. Rajasthan Domestic Travel ‘Mart (RDTM) was

organized in which district of Rajasthan?

34. yrdig afeen fvde S O s Wareh a0

F sierfedr fbde & R aredl | wUE @
=gon #1 —

(A) arfier 2022 H
(C) Jeire 2022 H

(B) 512022 4
(D) 3FTRT 2022 H

35. Feid 2022 ¥ TRA VIR ERT ‘I Ucal

IR ST A IRAA Bl BIA AT A e
27
(A) u=H

(C) fegeira

(B) meH

(D) g

36. WWWWWWW

38.

39.

‘40.

R T ferar T

(A) RToTReI ATfecd SAHIGH], Gaag?
(B) TSI Aferd el JADTGHI, TR
(C) ISR el SIS, STAYR
(D) uRFwl &5 ARPRIP Bg, SAPR

37, IR @ gEIHA F U gded ghgdr @l
" Reg2019 @ @ R W P wE @

srgAre frar 81 Red Ao &1 qof w9 & —
(A) RToTeer fobsa faumr™ e

(B) ISR 99T Wieae Ao

(C) TSR €T UIcaTs T AroiT

(D) TSR fARIeToT URerTd ST

IORIH EIHR A AR = [
aﬁﬁzﬁﬂw“mw (THaY) TR EWER
foby |

(A) et (B)a‘wwnq

(C) dferTg (D) ST

& B H (78 2022)ﬁ§@q->'r’r%ﬁﬂ=rmﬁr
3¢ e @ert & TR B Ao @ 87
(A) ShergR: (B) g%

(C) arwarsT (D) SIAeFR

RS SMRed gaa Al (AIR.SLELTH) &1
ST SR % e forer # fovam e

(A) Jaipur (B) Chittorgarh (R) ST (B) RirsTe
(©) Bhilwara (D) Udaipur (C) *frerare (D) SEaR
.-‘_-__‘-‘_—-—.__
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44,

45,

4a,

48.

2. The.

Gun Temple of Thalawar 1s also known as —

(2) Temple of Kunwan Kanya and Rastya

(B) saas Bahu Temple

(C) Charmukh Temple

(D) saat Salcdyon ka Mandir

saislative Assembly Constituency

is reserved ESchedu!ed Tribe.
(A) Udaipurg (B) Banswara

(C) Chitturp%{ ~ (D) Bhilwara

-+ Uniara painﬁr-{g style is a blend of which styles

of painting?
(A) Alwar and Kota style

(8) Bikaner@d Amer style

(C) Kota anG@mer style

(D) Jaipur aESBundi_style'

In which of=he following dance no musical
instrumentgzase used?
(A) Ghoom&f Dance
(C) Ger Dance

(B) Chang Dance
(D) valar Dance

Which of the following districts area is called

‘Bhomat’?
(M) Barmerdflore and (B) Sikar, Churu and
Sikar © Barmer
(C) Dungar%“g, (D) Ajmer, Bikaner and
Udaiputadd Sirohi Churu '
Which one gthe following river flows in the
Torawati bd&in?
(A) Gambhiri
(C) Bangangg

(B) Kakni
(D) Kantli

. Bhim ki Durggvi and Bijak ki Pahari are the sites

related to vifrth civilization of Rajasthan?

(A) Katibang_ij‘,) (B) Bairath civilization
civilizatiz
(C) GanesheGr

cmllzatféﬁ'

(D) Ahar civilization

Which of the following senal of mountam‘

peaks is correct as per descending order of
their heights? ;
(A) Bhairach, Nag Pahar, Babai and Bairath

(B) Babai, Bairath, Nag Pahar and Bhairach

(C) Nag Pahar, Bhairach, Babai and Bajrath
(D) Bairath, Nag Pahar, Babai and Bhairach

130-D €
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42.

43.

44,

45,

46.

47.

48,
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(C) TR T (D) cu-\rq :gm

Prefafa & @ o= Rl @& &5 9%

HEATIN 87

(A) ITeR. ek olR(B) @y,  w ¥
R arEHY

(C) YRR, TR 7R (D) SIoHR, HHA
R T

Freferfa & & @ 7€) arar @79 °

gaiRed gii) 87
(A) TIRY (B) wreni
(C) wropmy (D) wI=iail

M B G v Ao @ tr*ré# STl @
RRT Irer 9 wfifa ver &
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19. place of Jodhpur, famous place for Chhatris and
gardens of ancient kings is - |
(A) Mandore " (B) Osian
(C) Luni (D) Jaswant Thada

50. Which of the following is, a Black Buck
Sanctuary?

- (A) Ranthambore (B) Tal Chhapar
(C) Sajjangarh (D) Kumbhalgarh
51. Select the wrong pair - |

((A) Dwarkanath Bhatt — Raag Chandrika

(B) Dalpat — Khuman Raso

et
(C) Kumbha — Sangeet Raj e
(D) vijaydan Detha — Aasha ghar
52. Which is incorrect about Dang Area

Development Programme?
(i} It was begunin 1994-95in 26 blocks of eight
districts. o
(u} Eight districts include Bharatpur, Karaull,
Dholpur, Sawai Madhopur, Kota, Baran,
Bundi and Jhalawar.
(iii) It is 100% Central Government financed
programfﬁe. '
(iv) Its objective is to bring economic and social

development in dacoit affected areas.

Code -
(A) Only (iii) (B) Only (i)
() {ii), (iv) (D) (ii), (iii)

53. \Which was the capital of Harishchandra, the
founder of Pratihar dynasty in Rajasthan?
(A) Bhinmal (B) Merta
(€) Mandana (D) mandore

54. Character Puria is a part of -
(A) Rammat folk drama
(B) Bhawai dance
(C) Gavari dance drama

(D) Jasma Oden dance drama

49,

50.

51.

52.

53.

54"

SHEQR &1 IF, Sl wafel anw urdis Y
@ suF & forv ufs ¢ —
(B) anfirai

(A) SR

(C) T (D) SiHad ISl

RrfarRae 3§ P Brell @01 IPARIT &7

(A) RURIAIR (B) T BIWR

(C) TouT TG (D) ®9cTTe 3

T g ghe - |

(A) gRETI g — AT AT 55

(B) e — ATV Tl =

(C) w1 — Wi I %

(D)f%mutﬂﬂ%m STITER e

i v T FRIFE @ AR F B w1 e

27

(i) S BT 199495£renaﬁm’ra% 26 ~f &
e § g o ,'58

(u)mﬁa‘rﬁwaﬁaﬁaﬂﬁyﬂa@
Waﬁam@aﬂ?mwﬁ*

$ (")
(iii) T8 100% D% ?R'T:ER BINT ﬁﬂq\fﬁﬁ _I’Efﬂv_‘?

£ 2
(lv)mm@%ﬁm%ﬁﬁaﬂﬁiﬁfp

ek e R T R >

(A) A (i) (B) &ad (i) E";)')
(©) (i), (iv) (©) (i), (i) =
RORA H URER 43 @ AeRud sReas Bl
TS DI 1 2fi? (<p)
(A) et (B) e o
(€) HugHT (D) woRR L3
R e U fewm e - EE
(A) Yo7 Sp TEd T =
(B) ¥arg & P o
(C) Tt Jg feasT B

(D) S=AT 3MSA o TAfedT BT
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F’;l]l‘_”:{".j' 'IJE ',""—'_’.I'r‘ -

55. 1857253] a,‘ﬂﬁ:[ 53] AR

55. Who was the ruler of Dungarpur during the o FTeE sl @ Rl P ARDIL,
iti h? ' s B) G adq iR g
revolution of 1857, who helped the B_““; \ (o) fom RiE (B) ST mr:> i
(A) Vijay Singh (B} BN SIRERS () wae RiE (D) 35U iz |
(C) Fateh Singh (D) Udai Singh Il | " 5 @ @ AT - o
56. Which of the following is nota disciple of Dadu . qﬁls”flg?ﬂaﬂl - o
~ Dayal Ji?- - e & (B) T W
(A) Razzab Ji _(z)) Garibda;h , 7 S N (0) G T
(C) Laldas Ji | ( Suncjar as .1 - SISEL ”m e —
57. Match the following (Mahal - Place) ~ e :rs'al l 1)< ‘
(a) Mubarak Mahal (1) Dungarpur (a) FIRP B 3
' ' b) {AE BT (2) ST
(b) Sunehri Kothi (2) Tonk ( g
i (c) NTHT Hecl ~ (3) @R
(c) Reshma Mahal (3) Sikar C _ <
(d) Ek Thambiya Mahal (4) Jaipur _ (d) wep ofedr Hec SR
Choose the correct code - | ) el 6T Dl Tgdq élﬁ'ﬂﬂ —
(A) a-(4), b-(3), c-(2), d-(1) . (A) a-(4), b-(3), c-(2), d-(1) -
(B) a-(4), b-(2), c-(3), d-(1) - . (B) a-(4), b-(2), c-(3), d-(1) | E;_:
(C) a-(1), b-(4), c-(2), d-(3) " (C) a-(1), b-(4), c-(2), d-(3)

(D) a-(1), b-(2), c-(3), d-(4) (D) a-(1), b-(2), c-(3), d-(4) .

58. Dhati, a sub-dialect -of Marwari, is spoken in. 58. oTell, ARATS! Bl U SU—alcil, NToTeed D o

which region of Rajasthan? = 87 ¥ arel oy 87
(A) Barmer (B) Pratapgarh (A) gre®R (B) WIS
(C) Sikar - (D) Bundi (C) qﬁa—j“{ (D) g\—cﬁ
59. Rajasthan is divided into how many Agro- 9. IORAM P fhey ?ffﬁ—m youlf # il
climatic zones? AT £
(A) 20 (B) 15 A o
. (A) 20 (B) 15
@09 (D) 10 _ (€) 9 (D) 10
60. Maharana Sajjan Singh was given the title of 60. HeRmUT : N
‘Grand Commander of the Star of India’ by IS Friex Rig @1 fﬁ:‘ﬁ _ o
which Governor General? & o A% § TR 3T sfear @ 99 -
(A) Lord Lytton (B) Lord Hastings (A) ?rﬁtr,‘ .
(C) Lord Rippon (D) Lord Cornwallis ©) Tirs %E:{ﬁ (B) =€ sRe
61. If the Panchayati Raj Institution is dissolved - 61. T B (D) SfE piidffer
before the expiry of its term, then its election BN @T qm NTST HRT 39y rafer Sl
should be held- T PR IR 2, ) SqPT feraf
(A) Within six months of dissolution (A) E"}T‘ﬂ TRy |
(B) Within one year of dissolution " ]%E]ET-[ ©: A1m EF? Gfa‘\r\
(€) Anytime ' 5 (B) ﬁTE]Eq Ee) TP qF o o
(D) Within three months of dissolution E(D:: T Ay
130-D 2 ' AL
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Which of the following pair is not correctly
matched?

(A) Sanga = Guhil (B) Ajayraja — Chauhan
(C) Rai Sihgh —Rathod (D) Khetri Singh -
Sisodiya
63. ‘Kamadiya Panth’ was established by -
(A) Gogaji (B) Pabu jj
(C) Ramdev ji - (D) Mallinath ji

64. Which one of the following pair (Princely State .

— Political Agent), at the time of outbreak of
‘Revolt of 1857, is incorrect?
(A) Bikaner—-Captain'J.lj. Hall
(B) Jaipur — Colonel Eden T
(C) Udaipur—C. L. Showers &
(D) Jodhbur— Mac Mason
65. Which one of the following is nota Water Fort?
(A) Gagron Fort (B) Bhatner Fort
(C) Koshavardhan Fort (P) Bhainsrorgarh Fort
86. Atwhich of the following place the Gomti Sagar

cattle fair is organised? :
(B) Udaipur

(A) Bundi
(€) Kota (D) Jhalrapatan
67. Who attacked‘Chittorgarh during the ‘Second
Sakaa’?
(A) Akbar (B) Firoz Shah Tuglak

(C) AlaUddm Khilji (D) Bahadui'Sha_h

68. The main peeth of Naval Sect is in -
(A) Shahpura (B) Sabla
(€) Ren (D) Jodhpur
b Rajasthan State Environment Policy Wwas
declared firstly in the year -
(A) 2017 (B) 2006
(©) 2010 (D) 2008
HYdroiogy and Watar Management Institute is

located in Rajasthan at -
~ (B) Bikaner

(D) Kota

(A) Ganganagar
(©) Jodhpur

62.

63.

64.

65.

66.

() g

67.

- 68.

69.

70.

’_(A) PR
(C) Jrerrse Raeroit

Prefafaa # 1 @F—w1 g7 gafera el 2

(A) i — Tfee
(C) wrafife — SIS

(B) arSiuRIsi — diali
(D) & TSl g —
ﬁﬂf!‘aeﬂ

HrafeaT ver @) Ry b @i &

(A) TR @) wgstl

(C) YRSl PECIRIEN

1857 @ wifn & <rm (@@ Rasa -
Giffwe Toie) BT BT g, SRETa ¢
(A) T — B oL I &

(B) SRIR — Pl 587

(C) SeagR — . Tel. ¥ifars

(D) SIEQR — Hep ¥
Rrfufed # ¥ B a1 i g T8 87

(A) TR g (B) R g

(C) PIeEE gt (D) HRIeTS g
Ml AR 9g) A @ A frerad |
 frd M W g 57

(C) Piet
R wwr 3 ﬁ?ﬁw—d SEAR G E
3MMeHHOT o om?

(B) g e -
(D) 9ETgR ¥ME
el JYE & e We Red @ -

(A) wmEgRT ¥ (B) wrge ¥

(C) R (D) TR

RISR X TR A gor IR fbw oy
# Ot &1 g of?

(A) 2012 (B) 2006

(C) 2010 ~ (D) 2008

YoRe H ErEgleiel (U dfex e
$RIcge Iafed § —

(A) TR #

(©) Sitergy ¥

(B) T H
(D) @YeT H

130-p ©
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JOIN TELEGRAM @ emlimemedesstose

71. In which area was Lachhiram known? 7. grafia d) dedrt [ e lj ml_ﬂ
(A) Kuchamani Khyal (B) Turra Kalangi Khyal () ggartEl @ (B) t}‘” el vy
(C) Hela Khyal (D) Shekhawati khyal (C) il T (D) FrErnet 22y
72. Who is recognized as the folk goddess of Alwar 72, grerar & @) eliadl @ w4 A RIS
 region? o Il e
(A) Latiyal Mata (B) Sachchiya Mata Z?;; (A) wfeare T (B) ifEarar sy
(C) Jilani Mata (D) Sugali Mata BS (C) e A (D) 3Tl e
73- Who has constructed Naulakha Baori in 33- IRyR Rexer witerar “rq-‘:;" farre aarg?
E;;"garp”r?‘ o B e e (B) 3 gal e
Rani Primal Devi  (B) Rani Durga Devi - ; -
(C) Rani Champa Devi (D) Rani Padfnini (G ST e 5 LAt
74. According to the 20" livestock census of oA, JGRAT @ 204 GYFIOFAT B IR, Haifig
Rajasthan, which -district : i S § . ST
Iivjestock? _ e e ch-z Ly et et &7
(A) Nagaur (B) Bikaner & miR (B) diTR
(C) Jodhpur ‘ (D) Barmer g (C) GT\I'ETEJ)_\’ (D) Zﬂ@"ﬁ'
75. ‘sei Project’ is related to which of the following 33(5- W uRaeET Preafatea § 9 [ afg 3
dams? - Feford 87 :
" (A) Gandhisagar Dam (B) Harike Dam | s:ﬁ (A) Tt AR 9y (B) R qm
(C) Jawai Dam (D) Jawahar Sagar Dam FE' (C) Srarg T (D) STa18} 9N 4l
76. Match the following and select the correct %5’5- fr=ferRaa o1 yafer IR ik 911 Re 1t
answer using the codes given below — = BS BI T T 9&] 9N ﬂﬁﬁ.’—
Minerals Area g Qi geref aF - o
(a) Copper (i) Jnamarkotra = (a) BN (i) SR et -
(b) Gypsum (ii) Rajpura-Debari (b) oo™ (i) W—émﬁ
(c) Lead and Zinc (i) Khoh-Dariba g; (c) ¥ &R ST (i) g
(d) Rock Phosphate  (iv) Jamsar % (d) T BRae (iv) STHER
(A) a-i, b-ii, c-iv, d-iii (B a-iii, b-iv, c-i, d-ii D A ad, beii, civ, deiii  (B) i, beiv, oo, d-i
(© a-iv, b, cil, i+ (@) adil, biv, il G (©) adiv, b, il i (D) il bety, o, d4
77. What is the- main function of Harish Chandra ggﬂ gy MR ISR xfoq w TR
Mathur Rajasthan Institute of Public = .
Administration? VI B T B @ —
(A) Training (B) Censu-s .(A) yfdeqor ' B) 5
(C) Social (D) Recruitment
Development (©) iy e (D) e
78. sari Haveli is situated in - 78. 4 : -
| :::Chirawa (B) Dundlod Tﬁgﬁiﬁﬁ Pl Rer %? -
(C) Tonk (D) shri Madhopur (©) afﬁ ¥ (B) sei ;
(D) sf mmeNgR A
130-D € Page 12 of 16 =
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80.

81.

82.

83,

84.

85.

86.

30.p &

. As per Koppen climatic classification, the ‘Cwe’

climate is found in Rajasthan ip, -
(A) Arid Region ~

(B) Hadoti Plateau Region

(C) South-Eastern Reglion -

(D) Semi Arid Region

In Rajasthan, the festival and fair of Kajli Teej of

el famous. -
(A) Baran (B) Banswara’ zg
(C) Pushkar (D) Bundi P

. (o))
North — South corridor passes from whicH=2

district of Rajasthan?

. .
(A) Dausa (B) Jaipur 5‘?
(C) Dholpur (D) sawai Madhopur
Which of the following districts has the largest¥)
area of forest? _ E?:;
(A) Alwar (B) Prétapgarh [gﬁ
(C) Sirohi (D) Udaipur Sj_’

“The ornament ‘Tadda’ is worn - g%
(A) around waist (B) on forehead .
(C) around neck (D) in arms . o
How many indigenous languages are&i"
mentioned in Kuvalayamala? [

s €D

(A) 08 (B) 06 EEE%

(€) 18 (D) 12 -

Who was elected for Rajya Sabha for maximu@
four times from Rajasthan?

(A) Girija Vyas (B) Gyan Prakash o

Pilalnia . ég

(C) Ram Niwas Mirdha (D) Ashok Gehlot E‘S

. icH-2

The District Collector is a member of whic o

Service? %

(A) State Civil Service A

(B) Indian Administrative Service
(©) Indian police Service

(D) Indian Revenue Service

79.

81.

82.

83.

84.

85.

86.

BT B STerdrg FIERI B IR, AT
¥ ‘Cwg’ SR UTE IR E —

(A) g T H

(B) RIS UST WY H

(C) wfyofi—gdt waer

(D) 31 b Taw H

o uRig £ .
(A) 9 (B) TizFrS]

(C) q=pe (D) g

FR—a R TR X & e o &
TR &7 '

(A) xR (B) SR

(C) eiieTqy (D) waTg ATRNGR
frafafag § ¥ fra R § @7 &1 &owd
[y 3w 87

(A) 3reTaR ' (B) TTTTS

(C) RRIEI (D) SETR

TST TN YT Il & —

(A) R H (B) Rr w®

(C) et H (D) ar # |
aeraATel ¥ el <l Wil BT Soohd 27
(R) 08 ~ (B) 06

(C) 18 (D) 12

B faifea gam? |
(A) fiRem @ - (B) <19 wepra foet=ran

(C)?rn_rﬁamﬁa‘r (D) areles ol

(A) wro Rifder <
(B) WA WA ar
(C) e gfersy yan
(D) RTRT IoRa W

e

=]
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87. Which one of the following (Cattle Breed - Area
in Rajasthan) is not correctly matched? |
(A) Rathi— North West
(B) Tharparkar — West
(C) Gir — Middle and South East
(D) Kankrej — South East
88. \Who among the following was not a member
of Constitutional Assembly from Rajasthan?
(A) Hira Lal Shastri
(B) J.B. Kriplani_
(C) Jai Narayan Vyas
(D) V. T. Krishnamachari
89." Jain pilgrimage site Kesarlya}l is in whlch district
of Rajasthan? .
(A) Dungarpur ~ (B) Udaipur.
- (C) Banswara (D) Pratapgarh
90. \Which of the following pairs of districts is major
producer of Kattha (Acacia Catechu)?
(R) Udaipur - (B) Banswara — Baran
! Chittorgarh
(C) Bharatpur — Alwar" (D) Churu — Bikaner

81. Rupahli and Sunhari (Golden) -printing is
famous in which districts of Rajasthan?
(A) Kishangarh, Chittorgarh and Kota
(B) Ajmer, Tonk and Banswara- |
(C) 1aipur, Jodhpur and Jaisalmer
(D). Bundi, Pali and Sirohi |
92. Between which states was the Treaty of
Champaner signed (1456 AD)? .
(A) Malwa—-Mewar (B) Malwa - Gujarat
(C) Mewar — Gujarat (D) Mewar — Marwar
93. Govardhan Puja/Annakoot
celebrated in -~
(A) Kartik Shukla Paksha
(B) Ashwin Shukla Paksha
(C) Chaitra Krishna Paksha
(D) Bhadon Krishna Paksha
94. Hakim Khan Suri was the Chief General of
whose army?
(A) Maharana Pratap (B) Shershah Suri
(€) Rao Maldev (D) Maharana Sanga

Mahotsav is

430-D ©

Bl

88.

89.

il (i i

Prerfeifee 1 i A
Hel

roerr it erm) wel il
(A) ¥ — S afval
(B) ARTRDR — ETPTPTT
_ wearact 3R T sferi ydl

(D) wimest — afoi i
ﬁqﬁﬂmwﬁmq{ﬂﬁm T & Wy

TR o7

(A) ERTeITEl AT
(B) . 1. U

(C) g AR & i
(D) &, &, FETHER

ﬁqﬁrﬁmﬁzﬁvﬁm—ﬁwm?%mm

H g :
(A) SRR (B) STdYX
() TrvarST (B ST

90.

91.

93.

94,

pr=fRad & & forell @1 B 1T e
(g1 Feen) BT gg@wmﬁa‘%"f%? .
(A) STAR — frdireTe (B) giwars] — awi

(C) RagR — 3¥O1CH (D) TH — clhlmmﬂ

wuTEen iR ged (i) T <T@
fa Rrar § vfrg 87

(A) fere, ReTTe 3R Bl

(B) IR, €iep 3R IrqaT=T

(C) AR, TR iR SRR

(D) g€, gTell 3R RS

: Wﬁv@r(msmo)ﬁﬂﬂ—a‘rﬁéﬁﬂsﬁ

of1?

(A) FIeTar — ¥R (B) Arerar — oI
©) 4T — ToRE (D) T8 — ARAS
"aai‘W/Wqﬁwammaf
(A)Wﬁfﬁﬂ\]}ﬁ[qﬁ
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25. Wwhich of the following (River —
is not correctly matched?
(A) Sagi —Jaswantpura Hills
['B] ganas — Khamnor Hills
() Jakham — Chhoti Sadri
(D) sqm'— Babalwara Hills

Place of origin)

o6. Who is the author of ‘Marwar Ra Pargana Ri.
vigat'?
(A) Narharidas
(C) Navin kavi

(B) Muhnot Nainsi

(D) Surat Mishra

o7. which of the following statement is incorrect?
(A) Aravalli is the oldest mountain range.

(B) Western Sandy Plain is the residual of ‘

Tethys Ocean.

(C) South — Eastern plateau is the extension of
Gondwana Land.

(D) North — Eastern plain was formed by

_Sindhu River.
%. \Which is not traditional source of energy in.
Rajasthan? _
(A) Hydroelectric (B) Solar energy
energy

(C) Atomic energy (D) Thermal energy

%. Which of the following facts rega rding length of
rivers is incorrect?
() Luni (495 km)
(C) Chambal (1050 km)

(B) Mahi (467 km)
(D) Banas (512 km)

11, the districts in

100, According to census 20 5
. less than oneé million

Rajasthan with population
was - '
(A) Sirohi, Bundi
(C) Only Pratapgarh

(B) Only Jaisalmer
(D) Jaisalmer,
pratapgarh
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